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PART - III
sreuredwsy / BOTANY

(5Op wHHD Qe cuyfl / Tamil & English Version )

[ Qurgs wHrGuaTEeT : 70

ST eray : 3.00 wewfl CrrLD
e o [Maximum Marks : 70

Time Allowed : 3.00 Hours |

ofleyenrsst : (1)  Smasg edamss@sd sflwrs ufeurd) 2 erargm ereh%lgemmafrﬂurrr'rggjf
Qararereyid. sissLLdefNed Gopulmuddar Siens & T mamt) LI Termif] L LD
2 |aqurss Qsfledlssaw.
(2) Beod d@F EHLLY @wulear L HGw m@@mggb@u guehu‘(alej;g,
Couam@h. ULRSE auamrasp@h, 2igsGargBHousnELo Quenéled
Lwerl(HSSeyLD.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Instructions : (1)

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

L@&S - I/PART - I
@loy ¢ (i) Simengg damssErs@n ool wallésew. 15x1=15

(i) Qar@asuul@erer wrpm elamLseafid Bsab ghyoLw almmws
CaiAs0sss GOULBLen e ulmanyb GaTdg er(psayLb.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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1.

DNA aler @Lwmpmid SpenisE erenar QUi ?

(=) @awiymen (<) Qrégmen

(@) feviymen (rF) wrrenevCursmen

DNA element, which has ability to change its position is called :

(a) Intron b) Recon

(c) Cistron (d) Transposon

euaTTLIL ear&58ld meugg) aueTi&es Caamauliupn sreurs Se :

(=) s@aym (<) GCaaa (@) Brom () Gflgng
The selected tissue to establish a new plant in a culture medium :

(a) Embryoid (b) Callus (c) Plantlets (d) Explant

QrL_&&s6 GHIWer eranug) :
(<1) AUG (<) UUU (&) UAG () UGA

Initiation codon is :

(a) AUG (b) UUU (c) UAG (d) UGA
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sremrar aueriiiy upML Qereumid @eanganar QUTHEHIS.

4.
(1) eveuslsmeilet are] (i) 20 Qg.b.
(2) QsrEdsEnsdeGuwrea gy (i) 75 - 85%
3) e Qeuyb Curg srerrer (i) 2 -4 SIEIGELD
@enLudlen ieTey
(4)  mpLILsD (iv) 10 - 12 Q&.i5. p
(<t) (1)-(i), (2)-Gv), (3)-(0), (4)-(i)
(<) (1)-(), (2)-(v), (3)-G), (4)-(ii)
(@) (1)-(v), (2)-(d), (3)-(i), (4)-()
(/) (1)-(ii), (2)-(), (3)-(iv), (4)-(ii)
Match the following about mushroom cultivation.
(1) Straw size (i) 20cm
(2) Distance between blocks (i) 75 - 85%
(3) Cap size at harvesting (iii) 2 - 4 inch
(4) Relative humidity (iv) 10 - 12 cm
(@) (1)-(ii), (2)-(v), (3)-(), (4)-()
(b)  (1)-(i), (2)-(v), (3)-(1), (4)-(iii)
(c) (1)-(iv), (2)-(iii), (3)-Gii), (4)-(1)
(d) (1)-(it), (2)-(), (3)-(iv), (4)-(ii)
5. sams@_glar Aned ueduldmbs WNsHsHEsILEW QApré :
(1) QrevAéager CBrs (<4,) DNA eneGaav
(&) QanaGsaav (FF) <2OSMAOET L6 oLIGL 6
The enzyme which is purified from calf intestine :
(a) Restriction enzymes (b) DNA ligase
(c) Helicase (d) Alkaline phosphatase
A [ $®uys / Turn over
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6.

sraymsaiien gafliGatbamade GG LWSTLEFSILGD Gu @afl Bl :

(1) 3 - 10% (<) 2 - 8%

(@) 2-9% (rF) 2 - 10%

Solar energy used by green plants for only photosynthesis is :
(a) 3-10% (b) 2-8%

(c) 2-9% (d) 2-10%

Hall QaulubwinrsedEs sryamorer 14% HmIh 60% UMD BHQ UMLESET
wenCuw :

(=1) CH, wpmb CO, (<) N,0 pmib CO,

(&) CH, wpmb CFC (F) CFC pmib CO,

One greenhouse gas contributes 14% of total global warming and another contributes
60%. These are respectively identified as :

(a) CH, and CO, (b) N,O and CO,
(c) CH, and CFC (d) CFC and CO,

Gelaailud ugflaansada sflura afles s@ollaads SipHamaud e mbs)
Cuablaadsg caflasiiu@sd <imwssa]b.

(<=1) Gwb - Ga war b — HaogCsrhpb — 2 ulfiob

() safl 2 18flemd — 2 WIAFASTNE — HECHMHDD — G WETLeID

(8) 2WigAsmems —» 2 wWfland — 2 WD - HasCsmmpb

() HasGarpmbd — @G warLeb — 2l — 2 ulTECsremd

Arrange the correct sequence of ecological hierarchy starting from lower to higher

level.

(a) Community — Ecosystem — Landscape — Biome.
(b) Individual Organism — Population — Landscape — Ecosystem.
(c) Population — Organism — Biome — Landscape.

(d) Landscape — Ecosystem — Biome — Biosphere.
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9. ppHelepd sraurnsaild e CablLsg grarsder wped Cge :
(=) ela@ (<) miameilsg)
(@) wpsoflon smapa §s () Gupeiisg
The first cell of male gametophyte in angiosperm is

(@) Nucleus (b) Microspore

(c) Primary Endosperm nucleus (d) Megaspore

10. pBR 322, BR eranug :
(=) Qarmevfl Qureleut wpmd Crmiiléen
(<) Qerrevifi. umgle i OIS Iy HERTEY |
(@) QerrevAl Limeig Gomi wdHmid Grmifléen
() Qermevf urdleflu QUHSSLD
pBR 322, BR stands for :
(a) Plasmid Boliver and Rodriguéz
(b) Plasmid Bacterial Recombinafion

(c) Plasmid Baltimore and Rodrigilez

(d) Plasmid Bacterial Replication

11. gf od@flamd g AU L GLs8d Si@wbs sag uamiliieamans QFwUHSHID
GpHlows AsrEuy :
(<=t) HosCamppd (<) yefl qumfLtb
(@) 2.9t (7) @swd aumfiLid

A specific place in an ecosystem, where an organism lives and performs its function

is :
(a) landscape (b) habitat

(c) Dbiome (d) niche
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12. @™@® ueTLne wEsse eflegulande o flu @k e
(<) Léene efengulenay (e21) Qevdrenar eflenguflenen

(@) Garan alengufene (1r) amhiflu eflenguileney
The recessive trait to the dominant trait of yellow cotyledon is :
(a)  Green cotyledon (b)  White cotyledon

(c)  Axial cotyledon (d)  Wrinkled cotyledon

13. alemgle @wsmblama ghu@ib &(pLbLy

() fensulienar Cudgar() (<) efeng 2 dremeny

(Q) fensssapbyy () peverGeur
The scar left by funiculus in the seed is :

(a) Epicotyl (b) Tegmen
{c) Hilum (d) Radicle

14. Spss@mianild g GowaTLasdear e udrhn san oo ?

(=) Mg samaar (=) urLe flwimiger

(8) saflns samser (/) wLEL QurELsdr

Which of the following is not a abiotic component of the ecosystem ?
(a) Organic compounds (b) Bacteria

(c) Inorganic compounds (d) Humus

15. @Gy @ires srarusEnsdaLGu soly g TR A& L]
uhéng.
(<=1) @Cr @rasdn@er sl (<) Spleniis@réden_Gu FaLL
(@) Guflams@pédlenGu sl () @ramsensda_Cu Sl
Crosses between the plants of the same variety are called :

(a) intravarietal (b) interspecific

(c) intergeneric (d) intervarietal
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LS - II/PART - I

GO : TmauGuab oy eflerrssEpsE IO eleLwelssab. efearm erea
24-&E sLLmuins cflenL_wef&aaLb. 6x2=12

Note ¢ Answer any six of the following. Question number 24 is compulsory.
16. eTGLISNUD T eremey "

What is endothelium ?

17. Gengenans seUIY eremmmed erarer 2

Define Test Cross.

18. TATA Gueny ereimmed erema ?

What is TATA box ?

19. wrugy durplllwelld LwaLRSSILEL Aprdsailar QuLTEmaT rps)s.

Name the enzymes used in Genetic Engineering.

20. smaY FUENIESET GTETMTE GTeeT ? 5

What are jumping genes ?

21. 2 awrey&emdlell eramTa Greven ?

What is Food Chain ?

22. Gzsdlen LWeTGMET CT(PSIS.

Write the uses of Teak Wood.

; [ H;piys / Turn over
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23. &L uflemmo erenprd eremer ?

What is Co-cvolution ?

24, @s L - auepumIdsaD.

Define cybrid.
u@dl - III/PART - III

GOILY : ereveuCuenid &y m) e & @EpE®E Wl Hib eNenwellEsen. eflamm eram

33-5@ SL_Lmwwrs eflenLwefssaLb. 6x3=18

Note :  Answer any six of the following. Question number 33 is compulsory.

25. @ grRdssLSSen Tl S ITETD STaTUmil ?

How will you identify a vector ?

26. QO QRIGSSETENID CTEHITE) cranar ? @ TRSHSET_H H(HS.

What is co-dominance ? Give an example.

27. smueuder SenwleUll ULD euenfhgl ursd GfléseyL.

Draw and label the structure of Embryo sac.

28. wsoflow fpsiubsgsmoubd QrarLmbllow <iflwsiu@sssamaub
Caunu®sss.

Differentiate primary introduction from secondary introduction.

29. Qaulil HHEEML6] TEIDTD GTENaT ? SiFetm uenssEmend GO [ s.

What is thermal stratification ? Mention their types.
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30. aflgperp eueridflulien udCeum Heowser G QerRssliu(Herarg. oigemar
wepuulg euflevstiu®ssis.
prawd gy Heve, sreur Wpemeu o udfl Hleve, LsThey Blaa, Heper
eppdu sraur How, sTH Bleoww, mer appd BsseEw Heow, gy LbGeauef
Hlenev.

Various stages of succession arc given below. From that rearrange them
accordingly.

Reed-swamp stage, phytoplankton stage, shrub stage, submerged plant stage,
forest stage, submerged free floating stage, marsh meadow stage.

N\ )

31. amiuen euflSFL LD eTamTEd Gremreyr ?

What is carbon footprint ?

32. EHIG wHmb GHULHD Qe - CaumuBsss.

Differentiate coding and non-coding strand.

33. mawmamuiit B&&b erammma cTEaT ? QUeTTIIL| SjeomEniL) ereueumy Mmiekmamiuili BésL
Qaweumis ?

Define sterilization. How will you sterilize a culture room ?

L&l - IV/PART - IV
GO : Simengg) elenmésEné@h elenL waflsseywb. 5x5=25
Note : Answer all the questions.
34. (=) LISLLID eTammme) GTENaT ? QBT GUMSSHET LPmID Liewflseamer T(PSI5.
{6060 F)
(<) PoLWDD ERGSSH@L®WL THSSSET (L cllersss.
(a) What is tapetum ? Write its types and function.

OR

(b) Explain Incomplete Dominance with an example.

A [ Sl;pliys / Turn over
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35.

36.

37.

(1) GOECsHP erarpred erenen ? Gm&CanH S Hen Q&we (perD clems &L
LULgFlenar cuenys.
9{6V608)
(<) s Qaed Lrsid erampred erenan ? g6 LiwenUm(paEamar 6T (PpSl%-

(a) What is crossing over ? Give the diagrammatic representation of crossing

over.

OR

(b) What is single cell protein ? Write its applications.

(<) sreur H& euerii9e S_mdlyerar @qriLELE QaTaTamssmen 6daTEEs.
DM
()55 Sowa SgluoLle upadrl HassTe hs&allar amssemer
THEIHSSTL(HSEHLe 6leTsEs.
(a) Explain the basic concepts involved in plant tissue culture.

OR

(b) Explain the different types of xerophytes based on their adaptive characters

with examples.

(=1) GYed waTLesdlar umssmar rHSHIEETHsEHLeT UL iqwiel{Hs.
O{60605)
(<) rovodars sfle) @G &&TETIL Grésoar. msps 8iée ef wran
afpeonow sarbibg ldrées.
(a) List out the types of Ecosystem with examples.

OR

(b) Non-liquid wastes cause health problems. Give a solution to manage the
same.
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38. (=) peler v Celdliy gpeopaeer edlarsEs.

ATV

(‘%)&?&M@Jm STeuriseier OHHSTEI LwWaTU@D UGHEmaTUD DFe

(a)

- (b)

LMHSFIUL) LWETSMETLD 6T(PSIS.

(1)  Herd

(i) Qpoe

(iii) @LeuGueafi

(iv) eSleéeud

(v) drewen

Explain the modern methods of seed storage.
OR

Tabulate the plant parts and its medicinal use of the following :

() Holy basil

(ii) Indian gooseberry

(iii) Indian acalypha

(iv) Vilvam

(v) Veldt grape

-00o0-
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